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Conversation (phrasal verbs)  

School trouble – Exercise 

 

Fill in the gaps in this conversation. 

 

A: One of my pupils has started ... acting up .... 

B: How exactly is he or she misbehaving? 

A: She’s ................................. in class. 

B: What do you think has .......................... this ..........................?  

A: I'm not sure. I think her parents are .................................. 

B: That might explain it. However, I must ................................. that divorce is not always the cause of 

disruptive behaviour. 

A: I agree. Many things can ................................. this kind of behaviour. She's very well 

................................., and had been great in class until recently. 

B: Could she have ................................. a bad crowd at school? 

A: Yes, that seems like a more plausible explanation. 

B: So, how are you going to ................................. this? 

A: I'm not sure. I'd better ................................. what’s causing her behaviour first.  

 

 


